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/ T Tt W Module—z La o e Tt
3 a.- Derwe the expresswn for Mlller Input capamtance with sulta‘t;le- ClI‘Clllt d1agram (07 ‘Marks)
“b.+ For the: circuit shown in F1g Q3 (b) draw neat simplified 'arameter model circuit and

: obtaln the express1on for current galn and voltage gain (06 Marks)
e X B ae A ’ V(.C_ .

: J"For the amphﬁer shown in
h,e—25><10“‘ R = 50%(9

(07 Mark's)

' Compare the rela ion between the parameters of 51mphﬁed hybrid model and fig model of th s
. transistor in’ CE‘* conﬁguratlon with appropriate circuit diagram and expressions.” (04 Marks
- Obtain. E%ae eg;pressmn for Input impedance, Output impedance and Voltage gain of Emitter
follower ‘eonfiguration using AC equivalent circuit with re model. L0 R(08 Marks) :
For the%Enntter—follower confl i,),atron with Vee = 12 V“‘WRB 220 KQ, Rg:=3. 3 KQ
B= lOO and Iy, = 69, Calculate e, Zi, Zo and Avy. (08 Marks) .

(10 Marks)

Z Hy

gt S Fig. Q5 (2) -
For the ﬁar I liigton emitter- follOwer with Ve .= 18 V Ry = 3. 3 MQ RE = 390 Q
Lo =5KQ, BD =.8000, Vm:, ="1.6 V. Calculate the dc bias voltages (Vs, Vg, Vc) ‘Currents

: (IB, Ic) Input nnpedancew Output 1mpedance Voltage gain and Current gam ' (10 Marks)

List themlmportant charactenstlcs and apphcatlons of Darhngton Emitter follower.- (06 Marks)
: 2 of 4 : < :




' : Module 4 ’ ’
For the circuit shown in F1g Q7 (a), the de base curren%R “&}st mA and the ac

4 3
i results in a peak base current swing of 4 mA. Assun‘le Si; ransistor w1th B 30 Determl 16

o

(10 Marks); §es

Explam he operatlon of Wein, br1dge oscillator with. appropr1ate 01rcu1t dlagram and

~ expreéssions. ¥

b. For a Class B push-pull power 2 pllﬁer with V 5 V driving’ an 8 Q load, calculate,

maximum input power, maXImum output powe ximum circuit. efﬁc1ency, maxmnlm«:r A
collector d1ss1pat1on and the mput Voltage at wlnch maximum power. Vls'51pat10n occurs, s

, - : *f; ; (10 Marks) ...

R S ‘ (03 Marks) =

*aw e ' (07 Marks)

9 " a. For the FET ampllﬁer shown in Fig. Q9 (a), calculate Z; “Zo and Ay. Also calculate Zi Z6
‘ and Av, neglectmg the effect of rqand compare the results Take Ipss = 15 mA; Vp = -6V, iy

(10 Marks)

Fig. Q9 (a) o ¥
b. Draw the circuit symbol and small signal ac model of D- MOSFET and E- MOSFET Also
denve the expression for transconductance g, for both the. MOSEET §ein oo (10-Marks)

w)‘T”
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10 a. For the c1rcu1t shown in Flg Q10 (a), calculate:mw
Vi =1 mV(rms) '

Av. Also find Vo if
o ao Marks)

VGSQ = —0775 V,
rg= 50 KQ '

o : Flg QlO( )@“@&f« a b
b Explam the workmg and constructlon of JFET in detall»,anci d;raw 1ts transfer. charactenstlcs




